File Properties Sub Test MR Calculations Sub Test | Calculations
MR Chart for A | Chart for A

Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg Avg Process Av¢ LCL ucL
1 0 846.1 846.1 0 4209333333 0 1083.4824 846.1 661.9611111  -83.93275556  1407.854978 ~ = MovingRange == AvgRange LCL = ucL = ProcessAvg = Avg Process Avg LeL
2 873.6 1070.8 197.2 648.9 420.9333333 0 1083.4824 521.65 661.9611111  -83.93275556  1407.854978 @ 1250 = uer
A 3 1070.9 1882 811.1 613.9 4209333333 0 1083.4824  618.1333333 6619611111  -83.93275556  1407.854978 & 1323 3 1383
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Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg \vg Process Av¢ LCL ucL MR Chart for B | Chart for B
1 0 846.1 846.1 0 324.8666667 0 836.2068 846.1 698.0388889  122.3751556  1273.702622 artior artior
2 871.8 1205.2 333.4 512.7 324.8666667 0 836.2068 589.75 698.0388889  122.3751556  1273.702622 ~ ~ MovingRange == AvgRange LcL = ucL = ProcessAvg = Avg Process Avg LeL
B 3 1205.3 2000.6 795.3 461.9 324.8666667 0 836.2068 658.2666667  698.0388889  122.3751556 1273702622 @& 1000 = et
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Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg Avg Process Av¢ LCL ucL
1 0 846.1 846.1 0 205.3333333 0 528.528 846.1 727.4944444  363.6437778  1091.345111 MR Chart for C | Chart for C
2 872.3 13443 472 374.1 205.3333333 0 528.528 659.05 727.4944444  363.6437778  1091.345111 = MovingRange == AvgRange LCL = ucL = ProcessAvg == Avg Process Avg Lot
¢ 3 1344.4 2058.3 7139 2419 205.3333333 0 528.528 677.3333333  727.4944444 3636437778 1091345111 & 600 = et
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1 0 ) o o o o o o o MR Chart for D | Chart for D
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL = ucCL = ProcessAvg = Avg Process Avg LoL
D 3 0 0 0 0 0 0 0 0 0 z 10 = ucL
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1 0 0 o o o o o o o MR Chart for E | Chart for E
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL == UCL = ProcessAvg == Avg Process Avg LcL
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1 0 ) o o o o o o o MR Chart for F | Chart for F
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL = ucCL = ProcessAvg = Avg Process Avg LoL
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